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Q.1 Which of the following are considered as key behaviours of effective teaching as evident
from researches ?

a) Structuring through comments made for organizing what is to come.

b

=

Asking process or content based questions.

g
~—

Lesson clarity implying the extent, to which teacher’s presentation is clear to the class.

[=}
=

Using student ideas and contributions while the teacher is presenting the subject.
e

~—

Instructional variety involving teacher’s variability and flexibility during presentation.

(
(
(
(
(
(

f)  Student success rate implying the rate at which students understand and correctly
complete the exercises.

Code :

T (), () and (H
(©

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
91394313588
91394353402
91394353404
91394353403
91394353401
Answered

3

Q.2 In which of the following, target related specifications will be considered necessary ?

Options | Saminars
2. Symposium
3. Workshops

4. Conferences

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

McQ

91394313596
91394353433
91394353435
91394353436
91394353434




Status : Answered
Chosen Option : 1

Q.3 In the two sets given below, Set-I embodies the list of research types while Set-II provides
their nature and characteristics. Match the two sets and give your answer from the code
which follows :

Set-I Set-II
(Research types) (Nature and characteristics)
(a) Experimental research (i)  Generalizations follow rather than precede the
observations in due course
(b)  Exports facts research (ii) Emphasizing the access to reality by sharing
the perspectives of people
(c) Participant observation (i) Gelting at causal facts by retrospective
based research analysis
(d) Grounded theory approach (iv) Describing the status and conditions as
based research obtainable

(v)  Controlling the extraneous variables and
observing the effect of independent variable
manipulated by the researcher on dependent
variable

Code :

TG @) () W)
2@ () @) (@)
@) ) @) ()
L) G @

Question Type : MCQ
Question ID : 91394313593
Option 1 ID : 91394353421
Option 2 ID : 91394353423
Option 3 1D : 91394353422
Option 4 ID : 91394353424

Status : Answered

Chosen Option : 4

Q.4  Which of the following specify the factors affecting teaching. For your answer select from
the code given below :

(a) Availability of teaching aids and their use

(b)  School-community linkages

(c) Interest of parents in the school programmes

(d) Subject-knowledge of the teacher

(e) Frequency of organizing co-curricular activities

(f)  Verbal and non-verbal communication skills of the teacher
Code :

Options 7 (d),

Question Type : MCQ
Question ID : 91394313592
Option 11D : 91394353417




Option 2 ID : 91394353418
Option 3 ID : 91394353420
Option 4 ID : 91394353419
Status : Answered
Chosen Option : 1
Q.5 In which of the following research methods the emphasis is laid on naturalistic settings and
meaning-giving processes ?
options1 Case study method
2. Descriptive survey method
3. Experimental method
+ Ex post facto method
Question Type : MCQ
Question ID : 91394313597
Option 11D : 91394353439
Option 2 ID : 91394353440
Option 3 ID : 91394353437
Option 4 ID : 91394353438
Status : Answered
Chosen Option : 1
Q.6  In the two sets given below, Set-I embodies the domain of “teaching competencies” while
Set-II provides the specific competencies which make a teacher effective. Match the two
sets and select appropriate code.
Set-1 Set-11
(Domain of teaching competencies) (Specific competencies)
(a) Personality and attitude related ()  Dynamism and flexibility
competencies
(b) Behavioural competencies (ii)  Subject and general knowledge
(c) Substantive competencies (ili) Good physique and appearance
(d) Style related competencies (iv) Self efficacy and locus of control
(v) Teaching and managing
Code :
(@) (b) (9 (d
Options . o .
L) () (1) (V)
2 (1) (1) @) (v)
*iv) (v) (@) ()
+() (@) (i) ()
Question Type : MCQ
Question ID : 91394313590
Option 11D : 91394353411
Option 2 ID : 91394353412
Option 3 ID : 91394353409
Option 4 1D : 91394353410
Status : Answered
Chosen Option : 2

Q.7




In which of the modalities of teaching-learning arrangements there is more scope for critical
and creative interchange ?

Opti o .
P10, Training session

2.

Dialogic presentations involving teachers, students and the content

3.
Instructional presentations involving scope for information processing

4 Conditioning to promote sensitivity

' (b), (c) and (d)
2 (a), (c) and (e)
3. (b), (d) and (f)
“ (@), (b) and (©)

Question Type : MCQ
Question ID : 91394313591
Option 11D : 91394353413
Option 2 ID : 91394353416
Option 3 ID : 91394353415
Option 4 ID : 91394353414
Status : Answered
Chosen Option : 2
Q.8  Which of the following implies the correct sequence in an action research paradigm ?
Options, - Act, reflect, plan and observe
2. Observe, reflect, plan and act
3. Plan, act, observe and reflect
4. Reflect, act, observe and plan
Question Type : MCQ
Question ID : 91394313594
Option 11D : 91394353425
Option 2 ID : 91394353426
Option 3 ID : 91394353427
Option 4 1D : 91394353428
Status : Answered
Chosen Option : 2
Q.9  Below are given the characteristic features of formative and summative assessment procedures
used in various teaching-learning contexts.
(a) Itis used for judging learning standard.
(b)  Itis used for improvement of capacity and quality.
(c)  Its use is extended to performance appraisal of teachers, students and institutions.
(d) Itis used during instruction.
(e)  Assessment is formal and post instructional in nature.
() Itis based on participation of both teacher and student.
Which of the given codes relate to formative procedures ?
Code :
Options




Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
91394313589
91394353406
91394353407
91394353408
91394353405
Answered

4

Q.10 The issue of research ethics is pertinent at which of the following stages of research ?

Options 1.

Deciding the quantitative or qualitative tracks or both for pursuing the research problem

2.

Data collection, data analysis and reporting of research findings/results

3.

Identification, definition and delimitation of research problem

4.

Defining the population, sampling procedures and techniques

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
91394313595
91394353432
91394353431
91394353429
91394353430
Answered

1

Comprehension:

Read the following passage carefully and answer question numbers from 11 to 15 :

It is easy to see that there is nothing particularly unusual, or especially contrary to
reason, for a person to choose to pursue a goal that is not exclusively confined to his or her
own self-interest. As Adam Smith noted, we do have many different motivations, taking us
well beyond the single-minded pursuit of our interest. There is nothing contrary to reason in
our willingness to do things that are not entirely self-serving. Some of these motivations, like
‘humanity, justice, generosity and public spirit’, may even be very productive for society, as
Smith noted. There tends to be, however, more resistance to accepting the possibility that
people may have good reasons even to go beyond the pursuit of their own goals. The argument
runs : if you are consciously not pursuing what you think are your goals, then clearly those
cannot be your goals. Indeed, many authors have taken the view that the claim that one can
have reason not to be confined to the pursuit of one’s goals is ‘nonsensical’ since even strongly
heterogeneous or altruistic agents cannot pursue other people’s goals without making their
own. The point here is that in denying that rationality demands that you must act
single-mindedly according to your own goals. You do not necessarily dedicate yourself to
the promotion of others. We can reason our way towards following decent rules of behaviour
that we see being fair to others as well. This can restrain the unique dominance of single-
minded pursuit of our own goals. There is nothing particularly mysterious about our respect
for sensible rules of conduct. This can qualify the pursuit of what we rightly - and reasonably-
see as goals that we would in general like to advance. What we can say about your choice ?
There is no difficulty in understanding that you are not averse to helping your neighbour- or
anyone else- pursue his or her well-being. But it so happens that you do not think that your
neighbour’s well-being is, in fact, best advanced by his wasting time on playing a silly game.
Your action is not corollary of any general pursuit of well-being,.

SubQuestion No : 11

Q11 The observation of Adam Smith in going beyond self-serving interest is :

1. Motivations like justice and public spirit

2. Issues contrary to reasons.




3. Having one’s own goals

4. Willingness to do different things

Question Type : MCQ
Question ID : 91394313599
Option 11D : 91394353442
Option 2 ID : 91394353443
Option 3 ID : 91394353441
Option 4 1D : 91394353444
Status : Answered
Chosen Option : 3
Comprehension:
Read the following passage carefully and answer question numbers from 11 to 15 :
It is easy to see that there is nothing particularly unusual, or especially contrary to
reason, for a person to choose to pursue a goal that is not exclusively confined to his or her
own self-interest. As Adam Smith noted, we do have many different motivations, taking us
well beyond the single-minded pursuit of our interest. There is nothing contrary to reason in
our willingness to do things that are not entirely self-serving. Some of these motivations, like
‘humanity, justice, generosity and public spirit’, may even be very productive for society, as
Smith noted. There tends to be, however, more resistance to accepting the possibility that
people may have good reasons even to go beyond the pursuit of their own goals. The argument
runs : if you are consciously not pursuing what you think are your goals, then clearly those
cannot be your goals. Indeed, many authors have taken the view that the claim that one can
have reason not to be confined to the pursuit of one’s goals is ‘nonsensical” since even strongly
heterogeneous or altruistic agents cannot pursue other people’s goals without making their
own. The point here is that in denving that rationality demands that you must act
single-mindedly according to your own goals. You do not necessarily dedicate yourself to
the promotion of others. We can reason our way towards following decent rules of behaviour
that we see being fair to others as well. This can restrain the unique dominance of single-
minded pursuit of our own goals. There is nothing particularly mysterious about our respect
for sensible rules of conduct. This can qualify the pursuit of what we rightly - and reasonably-
see as goals that we would in general like to advance. What we can say about your choice ?
There is no difficulty in understanding that you are not averse to helping your neighbour- or
anyone else- pursue his or her well-being. But it so happens that you do not think that your
neighbour’s well-being is, in fact, best advanced by his wasting time on playing a silly game.
Your action is not corollary of any general pursuit of well-being.
SubQuestion No : 12
Q12 What can stand in the way of single-minded pursuit of one’s goals ?
Options = - a ol
1. Giving priority to our own goals
2. Pursuit of paradoxical parameters
5. Compulsion to consider the goals of others
4. Respect for sensible rules of conduct
Question Type : MCQ
Question ID : 91394313602
Option 11D : 91394353453
Option 2 ID : 91394353456
Option 3 ID : 91394353454
Option 4 ID : 91394353455
Status : Answered
Chosen Option : 1

Comprehension:




Read the following passage carefully and answer question numbers from 11 to 15 :

It is easy to see that there is nothing particularly unusual, or especially contrary to
reason, for a person to choose to pursue a goal that is not exclusively confined to his or her
own self-interest. As Adam Smith noted, we do have many different motivations, taking us
well beyond the single-minded pursuit of our interest. There is nothing contrary to reason in
our willingness to do things that are not entirely self-serving. Some of these motivations, like
‘humanity, justice, generosity and public spirit’, may even be very productive for society, as
Smith noted. There tends to be, however, more resistance to accepting the possibility that
people may have good reasons even to go beyond the pursuit of their own goals. The argument
runs : if you are consciously not pursuing what you think are your goals, then clearly those
cannot be your goals. Indeed, many authors have taken the view that the claim that one can
have reason not to be confined to the pursuit of one’s goals is ‘nonsensical’ since even strongly
heterogeneous or altruistic agents cannot pursue other people’s goals without making their
own. The point here is that in denving that rationality demands that you must act
single-mindedly according, to your own goals. You do not necessarily dedicate yvourself to
the promotion of others. We can reason our way towards following decent rules of behaviour
that we see being fair to others as well. This can restrain the unique dominance of single-
minded pursuit of our own goals. There is nothing particularly mysterious about our respect
for sensible rules of conduct. This can qualify the pursuit of what we rightly - and reasonably-
see as goals that we would in general like to advance. What we can say about your choice ?
There is no difficulty in understanding that you are not averse to helping your neighbour- or
anyone else- pursue his or her well-being. But it so happens that you do not think that your
neighbour’s well-being is, in fact, best advanced by his wasting time on playing a silly game.
Your action is not corollary of any general pursuit of well-being,.

SubQuestion No : 13
213 The moral derived from the passage is :

Options

1. Not to think of our neighbour

2.
Force people to take on the other people’s goals as their own

3.
Assist your neighbours to engage in any activity of their choice

2. Pro-active move to support others

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
91394313603
91394353458
91394353459
91394353460
91394353457
Answered

4

Comprehension:




Read the following passage carefully and answer question numbers from 11 to 15 :

It is easy to see that there is nothing particularly unusual, or especially contrary to
reason, for a person to choose to pursue a goal that is not exclusively confined to his or her
own self-interest. As Adam Smith noted, we do have many different motivations, taking us
well beyond the single-minded pursuit of our interest. There is nothing contrary to reason in
our willingness to do things that are not entirely self-serving. Some of these motivations, like
‘humanity, justice, generosity and public spirit’, may even be very productive for society, as
Smith noted. There tends to be, however, more resistance to accepting the possibility that
people may have good reasons even to go beyond the pursuit of their own goals. The argument
runs : if you are consciously not pursuing what you think are your goals, then clearly those
cannot be your goals. Indeed, many authors have taken the view that the claim that one can
have reason not to be confined to the pursuit of one’s goals is ‘nonsensical’ since even strongly
heterogeneous or altruistic agents cannot pursue other people’s goals without making their
own. The point here is that in denving that rationality demands that you must act
single-mindedly according, to your own goals. You do not necessarily dedicate yvourself to
the promotion of others. We can reason our way towards following decent rules of behaviour
that we see being fair to others as well. This can restrain the unique dominance of single-
minded pursuit of our own goals. There is nothing particularly mysterious about our respect
for sensible rules of conduct. This can qualify the pursuit of what we rightly - and reasonably-
see as goals that we would in general like to advance. What we can say about your choice ?
There is no difficulty in understanding that you are not averse to helping your neighbour- or
anyone else- pursue his or her well-being. But it so happens that you do not think that your
neighbour’s well-being is, in fact, best advanced by his wasting time on playing a silly game.
Your action is not corollary of any general pursuit of well-being,.

SubQuestion No : 14

Q14 In the view of many authors, not pursuing one’s own goal is :

Options ,  Rational
> Altruistic
3. Natural

4. Nonsensical

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
91394313600
91394353448
91394353447
91394353446
91394353445
Answered

4

Comprehension:




Read the following passage carefully and answer question numbers from 11 to 15 :

It is easy to see that there is nothing particularly unusual, or especially contrary to
reason, for a person to choose to pursue a goal that is not exclusively confined to his or her
own self-interest. As Adam Smith noted, we do have many different motivations, taking us
well beyond the single-minded pursuit of our interest. There is nothing contrary to reason in
our willingness to do things that are not entirely self-serving. Some of these motivations, like
‘humanity, justice, generosity and public spirit’, may even be very productive for society, as
Smith noted. There tends to be, however, more resistance to accepting the possibility that
people may have good reasons even to go beyond the pursuit of their own goals. The argument
runs : if you are consciously not pursuing what you think are your goals, then clearly those
cannot be your goals. Indeed, many authors have taken the view that the claim that one can
have reason not to be confined to the pursuit of one’s goals is ‘nonsensical’ since even strongly
heterogeneous or altruistic agents cannot pursue other people’s goals without making their
own. The point here is that in denving that rationality demands that you must act
single-mindedly according, to your own goals. You do not necessarily dedicate yvourself to
the promotion of others. We can reason our way towards following decent rules of behaviour
that we see being fair to others as well. This can restrain the unique dominance of single-
minded pursuit of our own goals. There is nothing particularly mysterious about our respect
for sensible rules of conduct. This can qualify the pursuit of what we rightly - and reasonably-
see as goals that we would in general like to advance. What we can say about your choice ?
There is no difficulty in understanding that you are not averse to helping your neighbour- or
anyone else- pursue his or her well-being. But it so happens that you do not think that your
neighbour’s well-being is, in fact, best advanced by his wasting time on playing a silly game.
Your action is not corollary of any general pursuit of well-being,.

SubQuestion No : 15

Q15 According to the passage, decent rules of behaviour are needed :

Options "
1. Due to dominance of our own goals

2. For being fair to others

3. Because of self-imposed restraints

4. To be rational

Question Type : MCQ
Question ID : 91394313601
Option 11D : 91394353452
Option 2 ID : 91394353451
Option 3 ID : 91394353449
Option 4 ID : 91394353450

Status : Answered

Chosen Option : 2

Q.16 Given below are an Assertion (A) and a Reason (R). Consider them and select the correct
code given below :

Assertion (A) : Honesty is a great virtue.

Reason (R) : Honesty does not harm anybody.
Code :
Opti . .
P (R) is true and (A) is false.
2

Both (A) and (R) are true and (R) is the correct explanation of (A).

3. (A) is true and (R) is false.

4,
Both (A) and (R) are true, but (R) is not the correct explanation of (A).

Question Type : MCQ
Question ID : 91394313616
Option 11D : 91394353512
Option 2 ID : 91394353509




Option 31D : 91394353511
Option 4 ID : 91394353510
Status : Answered
Chosen Option : 4

Q17 Internal cues of non-verbal behaviour in the classroom help diagnose :
Options . . i
"1, Spatial proximation
2. Inter-personal dynamics

3. Student movement

4. Mass beliefs

Question Type : MCQ
Question ID : 91394313605
Option 11D : 91394353466
Option 2 ID : 91394353465
Option 3 1D : 91394353468
Option 4 ID : 91394353467

Status : Answered

Chosen Option: 1

Q.18 When the conclusion of an argument follows from its premises necessarily, the argument is
called :

options; Circular argument

2. Deductive argument

3 Inductive argument

2. Analogical argument

Question Type : MCQ
Question ID : 91394313617
Option 11D : 91394353513
Option 2 ID : 91394353516
Option 31D : 91394353515
Option 4 ID : 91394353514

Status : Answered

Chosen Option : 4

Q.19  Assertion (A) : Classroom communication behaviours imply making the contents relevant.

Reason (R) : Itis none of the functions of teachers to make students organise information
for effective interaction.

Code :
Options 1.
Both (A) and (R) are true, but (R) is not the correct explanation of (A).

2. (A) is true, but (R) is false.
3. (A) is false, but (R) is true.
4 Both (A) and (R) are true.




Question Type : MCQ
Question ID : 91394313606
Option 1 1D : 91394353470
Option 2 ID : 91394353471
Option 31D : 91394353472
Option 4 ID : 91394353469
Status : Answered
Chosen Option: 2
Q.20
Before death a man left the following instructions for his fortune : half to his wife; 7 of what
g 2 g : B
was left to his son; 3 of what was left to his daughter; the man’s pet dog got the remaining
< 20000. How much money did the man leave behind altogether ?
Options
1. ¥ 40000
2.3 140000
3. X 100000
4. 70000
Question Type : MCQ
Question ID : 91394313612
Option 1 ID : 91394353495
Option 2 ID : 91394353493
Option 3 ID : 91394353494
Option 4 ID : 91394353496
Status : Answered
Chosen Option : 2
Q21 In pre-learning preparation, an important stage of communication is :
Options . .
PRO% 1. lconisation of encoder
2 [gnoring semantic noise
3. Information acquisition and its processing
4 Conditioned feedback
Question Type : MCQ
Question ID : 91394313608
Option 11D : 91394353478
Option 2 ID : 91394353479
Option 3 ID : 91394353477
Option 4 ID : 91394353480
Status : Answered
Chosen Option: 1

922 1f7 13, 2, 14, 6 is to flame, then 3, 13, 16, 2, 21 is to :
Options . - Blpat

2. Blade




3. Voice

4 Blown

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

McQ

91394313613
91394353499
91394353498
91394353497
91394353500

Status : Answered
Chosen Option : 1

The above is :

optons; A proposition of facts

2. An argument
3. A justification of beliefs

2. An explanation of facts

Q@23 “Every law is an evil, for every law is an infraction of liberty’.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
91394313614
91394353504
91394353501
91394353503
91394353502
Answered

2

Q.24 . .
If R+%=1 and 5+%=1, then RxSxT=

Options | o
2. 1
3. —1
1=

Question Type :
Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status :

McQ

191394313610
1 91394353486
1 91394353488
1 91394353485
1 91394353487

Answered

Chosen Option : 2

Q.25




Among the following propositions (a, b, ¢ and d) two are related in such a way that both of
them together cannot be false although they may both be true. Select the code that states
those two propositions.

(a) All students are intelligent.
(b) Some students are intelligent.
(c) No students are intelligent.

(d) Some students are not intelligent.

1 (b) and (d)
2 (b) and (¢)
3 (a) and (b)
+ (c) and (d)

Question Type : MCQ
Question ID : 91394313615
Option 11D : 91394353508
Option 2 ID : 91394353506
Option 3 ID : 91394353505
Option 4 ID : 91394353507

Status : Answered

Chosen Option : 1

Q.26 A woman introduces a man as the son of the brother of her mother. How is the man related
to the woman ?

Options 7 S(JI'[

2 Uncle

3. Grandson

4. Cousin

Question Type : MCQ
Question ID : 91394313611
Option 11D : 91394353491
Option 2 ID : 91394353489
Option 3 1D : 91394353490
Option 4 ID : 91394353492

Status : Answered

Chosen Option : 4

Q.27




Given below are two premises (i) and (ii). Four conclusions are drawn from them (taking
singly or together).
Premises : () Some prisoners are dacoits.
(i) Some dacoits are murderers.
Conclusions :
a) Some prisoners are murderers.

(
(b)  All prisoners are murderers.
(

g}
—

Some dacoils are prisoners.

(d) Some murderers are dacoits.
Select the code that states the validly drawn conclusions :
Code :

Options Only (c¢) and (d

Question Type : MCQ
Question ID : 91394313618
Option 11D : 91394353519
Option 2 ID : 91394353520
Option 3 ID : 91394353517
Option 4 ID : 91394353518

Status : Answered

Chosen Option : 1

Q.28 Communication variables involved in a model of performance are :
(a) Encoding
b) Decoding

d) Channelisation
e) Indifference

Select the correct option from the code given below :
1 (b), (¢), (d) and (¢) only
2 (a), (b), (c) and (e) only

) an

* (a), (¢) and (d) only
+(a), (b) and (d) only

(
(c)  Passive resistance
(
(

Options

Question Type : MCQ
Question ID : 91394313607
Option 11D : 91394353474
Option 2 ID : 91394353473
Option 3 1D : 91394353475
Option 4 ID : 91394353476

Status : Answered

Chosen Option : 4

Q.29




(a) Affinity-seeking strategies
(b) Immediacy behaviours
()  Humour

(d) Collaborative filters

Choose most appropriate code :
Options

" (a), (b) and (c)

2.(a), (c) and (d)
(a) and (d) only
d (b) only

3. {d

4 (a) an

To communicate effectively with students, teachers should use :

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
91394313604
91394353464
91394353462
91394353463
91394353461
Answered

2

otions 1 259
2510
2 444
+ 553

Q.30 |p the sequence of numbers 1, 2, 6, 33, 49, 174, 210, x,

...... , the term x is :

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
91394313609
91394353484
91394353483
91394353481
91394353482
Answered

3

Comprehension:




The following table indicates the percentage of students enrolled in various faculties of a
University. The total number of students in the University is 12000, out of which 52% are
males and remaining are females.

Based on the table, answer the questions that follow (Questions 31-35) :

Percentage of students facultywise
Name of the Faculty Percentage (%) of Students
Science 17%
Education 30%
Engineering 8%
Performing Arts 26%
Social Sciences 19%

SubQuestion No : 31

Q.31 The difference in the number of students enrolled in the faculty of Science as compared to
the number of students enrolled in the faculty of Engineering, is :

oPtens. 2040
21180

3. 960
4. 1080

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
91394313624
91394353538
91394353537
91394353539
91394353540
Answered

4

Comprehension:

The following table indicates the percentage of students enrolled in various faculties of a
University. The total number of students in the University is 12000, out of which 52% are
males and remaining are females.

Based on the table, answer the questions that follow (Questions 31-35) :

Percentage of students facultywise
Name of the Faculty Percentage (%) of Students
Science 17%
Education 30%
Engineering 8%
Performing Arts 26%
Social Sciences 19%

SubQuestion No : 32

Q.32 If half of the students from the faculty of Education and all of the students from the faculty
of Social Sciences are females, then the number of female students in the three remaining
faculties altogether will be :

Options 7 9 6 U
2. 1680
3. 840




4.1240

Chosen Option

Question Type : MCQ
Question ID : 91394313622
Option 1 ID : 91394353531
Option 2 ID : 91394353530
Option 3 1D : 91394353532
Option 4 ID : 91394353529
Status : Answered
Chosen Option: 2
Comprehension:
The following table indicates the percentage of students enrolled in various faculties of a
University. The total number of students in the University is 12000, out of which 52% are
males and remaining are females.
Based on the table, answer the questions that follow (Questions 31-35) :
Percentage of students facultywise
Name of the Faculty Percentage (%) of Students
Science 17%
Education 30%
Engineering 8%
Performing Arts 26%
Social Sciences 19%
SubQuestion No : 33
Q.33 5 .
The number of male students exceeding female students is :
Options
prOnS 1480
2. 1400
3. 1680
4. 800
Question Type : MCQ
Question ID : 91394313620
Option 11D : 91394353522
Option 2 ID : 91394353521
Option 31D : 91394353523
Option 4 1D : 91394353524
Status : Answered

01

Comprehension:




Based on the table, answer the questions that follow (Questions 31-35) :

Percentage of students facultywise

Name of the Faculty

Percentage (%) of Students

Science 17%
Education 30%
Engineering 8%
Performing Arts 26%
Social Sciences 19%

Options1. 1 498
21610
3. 2560

4.2678

SubQuestion No : 34

Q.34 Approximately, how many female students are there in the faculty of Performing Arts if the
PP ) ) ) 8
proportion of males and females is the same for this faculty as for the whole University ?

The following table indicates the percentage of students enrolled in various faculties of a
University. The total number of students in the University is 12000, out of which 52% are
males and remaining are females.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
91394313621
91394353527
91394353526
91394353525
91394353528
Answered

1

Comprehension:

Based on the table, answer the questions that follow (Questions 31-35) :

Percentage of students facultywise

Name of the Faculty

Percentage (%) of Students

Science 17%
Education 30%
Engineering 8%
Performing Arts 26%
Social Sciences 19%

SubQuestion No : 35

Options

1. 2680

2. 29610
3. 3120

The following table indicates the percentage of students enrolled in various faculties of a
University. The total number of students in the University is 12000, out of which 52% are
males and remaining are females.

Q.35 Supposing, the number available in the faculty of Engineering doubles keeping the total
number in the University to be the same by reducing the student numbers in faculty of
Performing Arts and faculty of Education equally, the number of students available in the
faculty of Education will be :




4. 3125

Question Type : MCQ
Question ID : 91394313623
Option 11D : 91394353535
Option 2 ID : 91394353536
Option 3 ID : 91394353534
Option 4 ID : 91394353533
Status : Answered
Chosen Option : 3
Q.36 For pursuing a Ph.D. programme through our University system, what has become a
mandatary provision now ?
Options 1.
Guidance from a supervisor outside the University
2. Enrolment for Ph.D.
3. Course work
4 Compulsory attendance for three years
Question Type : MCQ
Question ID : 91394313635
Option 11D : 91394353584
Option 2 ID : 91394353581
Option 31D : 91394353582
Option 4 ID : 91394353583
Status : Answered
Chosen Option : 4
Q.37 Assertion (A) : Mapping of landslide prone areas and construction of houses, felling of
trees and grazing in landslide prone areas should be prohibited.
Reason (R) : Afforestation in the vulnerable areas is an effective way of durable landslides
control.
Choose the correct code :
Options 1.
Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
2. (A) is false and (R) is true.
3.
Both (A) and (R) are correct and (R) is the correct explanation of (A).
4. (A) is true and (R) is false.
Question Type : MCQ
Question ID : 91394313633
Option 11D : 91394353574
Option 2 ID : 91394353576
Option 3 ID : 91394353573
Option 4 ID : 91394353575
Status : Answered

Chosen Option: 1

Q.38

Which of the following best describes the mechanism of the greenhouse effect in earth’s

atmosphere ?




Options 1.

2.

3.

4.

atmosphere.

Infrared radiation from earth’s surface is absorbed by gases in the atmosphere.
Ultraviolet radiation from the sun is absorbed by Ozone layer in the stratosphere.

Cosmic radiation from the space is absorbed by gases in the atmosphere.

Gamma radiation from the sun is absorbed at ground level by dust particles in the

Question Type : MCQ
Question ID : 91394313634
Option 11D : 91394353579
Option 2 ID : 91394353578
Option 3 ID : 91394353577
Option 4 ID : 91394353580
Status : Answered
Chosen Option : 2
Q.39 Human populations have historically settled in flood plains due to which of the following
reasons ?
(a) Flood plains are close to rivers for transportation.
(b)  The soils in the flood plains are usually fertile.
(c)  The terrain in flood plains is found as flat.
Select the correct answer from the code given below :
Optlons ( ) Cll'l.l}r
2 (a) and (b) only
3. (b) and (c) only
+ (a), (b) and (c)
Question Type : MCQ
Question ID : 91394313631
Option 11D : 91394353565
Option 2 ID : 91394353566
Option 3 ID : 91394353567
Option 4 ID : 91394353568
Status : Answered
Chosen Option : 4
Q40 The two major processes involved in the carbon cycle are :
Opti T .
pens s Deposition and erosion
2. Photosynthesis and respiration
3. Evaporation and transpiration
4. Fixation and denitrification
Question Type : MCQ
Question ID : 91394313630
Option 11D : 91394353561
Option 2 ID : 91394353563




Option 31D : 91394353562
Option 4 ID : 91394353564
Status : Answered
Chosen Option: 2
Q.41 Which option would complete the following sentences about digital communication system
by using the words - short/long, low /high ?
Bluetooth is a range wireless technology. It is used to connect devices together
for data transfer. Bluetooth is a cost means of data transfer.
Options
PIonq. short, low
2. short, high
3. long, high
4 long, low
Question Type : MCQ
Question ID : 91394313627
Option 1 ID : 91394353550
Option 2 ID : 91394353552
Option 3 ID : 91394353551
Option 4 ID : 91394353549
Status : Answered
Chosen Option : 1
Q.42 In the institutions of higher education in India which of the following has the formal authority
to approve the courses and programmes of studies ?
Options .
1. Departmental Council
2. Academic Council
s. Board of Studies
4. The University Court /Senate
Question Type : MCQ
Question ID : 91394313638
Option 11D : 91394353594
Option 2 ID : 91394353596
Option 3 ID : 91394353595
Option 4 ID : 91394353593
Status : Answered
Chosen Option: 3
Q.43 Computer data files that are included with an email message are often referred to as :
Options s
Prensq. Cookies
2. Attachments
3.Carbon copy
4+ Spam mails
[ Question Type : MCQ




Question ID : 91394313628
Option 1 ID : 91394353556
Option 2 ID : 91394353554
Option 3 ID : 91394353553
Option 4 ID : 91394353555
Status : Answered
Chosen Option : 2
Q.44 Which one of the following pairs least matches in respect of computers ?
Options 1.
HTTPS Hypertext Transfer Protocol Standard
2.
PDF Portable Document Format
3z WWW World Wide Web
4.
1 MegaByte - (1024) x (1024) x (8) Bits
Question Type : MCQ
Question ID : 91394313625
Option 11D : 91394353542
Option 2 ID : 91394353544
Option 3 ID : 91394353543
Option 4 ID : 91394353541
Status : Answered
Chosen Option : 4
Q.45 Read the following spreadsheet (MS-EXCEL) :
EXCEL Spreadsheet
A B C
1 10 16
2 20
3 8
4 12
5 0
The equation in cell B2is =A2+$B $ 1.
The equation is then copied and pasted to cells B3, B4 and B5. What should be the value in
B3 ?
Options 1 5 6
2 24
3. 44
4. 36
Question Type : MCQ
Question ID : 91394313629
Option 11D : 91394353560
Option 2 ID : 91394353558
Option 3 ID : 91394353559
Option 4 ID : 91394353557
Status : Answered
Chosen Option : 3




Q.46 In the following two sets, Set-I mentions an apex level institution in India while Set-II indicates

their formal concerns. Match the two sets and give your answer from the code.

Set-1 Set-1I
(Apex level Institution) (Formal concerns)

(a)  University Grants Commission (i)  Adjudication of legal matters in education
(b)  All India Council of (if) Coordination, recognition and quality issues
Technical Education related to teacher education institutions
() National Council of (iii) Coordination and quality maintenance in

Teacher Education institutions of higher education
(d) National Assessment and (iv) Recognition and quality issues in technical
Accreditation Council institutions

(v)  Evaluation of quality and determining grade
of excellence
Code :

(@ (b} (c) (d)

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
91394313636
91394353587
91394353585
91394353588
91394353586
Answered

2

Q.47 Which piece of the computer hardware is known as the “brain” of the computer and is

responsible for processing instructions ?

Options
1. Motherboard

2 ROM
. RAM

2. CPU

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Question Type :
191394313626
1 91394353546
1 91394353547
1 91394353548
1 91394353545

Status :
Chosen Option :

McQ

Answered
1

Q.48 Which of the following methods would be most appropriate in reducing acid rain and acid

deposition problems ?
1. Increasing the height of smokestacks

2. Adding lime to the acidic lakes




3. Promotion of acid-resistant crops

4. Reducing the use of fossil fuels

Question Type : MCQ
Question ID : 91394313632
Option 11D : 91394353572
Option 2 ID : 91394353569
Option 3 ID : 91394353571
Option 4 ID : 91394353570
Status : Answered
Chosen Option : 4
Q.49  Below are given two sets- Set-I provides stages of value development while Set-II indicates
their critical features from the point of view of value education. Match the two sets and
choose your answer from the code :
Set-I Set-I1
(Stages of value development) (Critical features in terms of value education)
(a) Value collection (i) Providing opportunity for imitation
(b) Value assessment (ii) Characterization through integration of values
(c) Value clarification (iii) Providing hints for inner evaluation
(d) Value consolidation (iv) Exposure to other values
(v)  Discussions and debates
Code :
@ ) © (@
Fer (@) (i) (i) (i)
2 (@) (i) (@) (v)
() Gi) (V) (i)
() (1) (1) (V)
Question Type : MCQ
Question ID : 91394313637
Option 11D : 91394353589
Option 2 ID : 91394353590
Option 3 ID : 91394353591
Option 4 ID : 91394353592
Status : Answered
Chosen Option : 2

Q.50 To improve access and quality in higher education, the Knowledge Commission
recommendations include which of the following ?

(a) Use of ICT for production of knowledge
Closure of non-performing Universities in the country
Establishment of a network of institutions of higher learning

Increase in the enrolment of students in the institutions of higher learning

b
b

, (©)
(c),
(d) onl
(d) only

-

)
(a), (b)
3. (a), (

(

),

(
a), (b),

]




Question Type : MCQ
Question ID : 91394313639
Option 11D : 91394353597
Option 2 ID : 91394353600
Option 3 1D : 91394353599
Option 4 1D : 91394353598
Status : Answered
Chosen Option : 2
Section : 08 Commerce
.1
Q Banking Ombudsman Scheme was introduced by RBI with effect from
Options
PHORS 1. 2001
2. 1998
3. 1995
4. 2005
Question Type : MCQ
Question ID : 91394313700
Option 11D : 91394353843
Option 2 ID : 91394353841
Option 3 1D : 91394353842
Option 4 1D : 91394353844
Status : Answered
Chosen Option: 1
Q.2 Which of the following are included in the international liquidity ? Indicate the correct code.
(i) Foreign exchange reserve
(iiy Borrowing capacity of the various countries
(iii) Gold reserves
Choose the correct answer from the code given below :
Code :
Options
PHONS 1 () and (iii)
2. (i) and (ii)
3. (i) and (iii)
4. (i), (i) and (iii)
Question Type : MCQ
Question ID : 91394313705
Option 11D : 91394353862
Option 2 ID : 91394353861
Option 31D : 91394353863
Option 4 ID : 91394353864
Status : Answered
Chosen Option : 4




Qs Choose the correct code for the following statements being correct or incorrect.

Statement I:  Ap identifiable group of people contributing their efforts towards attainment
of goals is called organization.

Statement I : Ty jts broadest sense, organization refers to the relationship between the
various factors present in a given endeavour.

Code :

Opti
PHONS | Statement I is correet, but 11 is incorrect.

2. Both the statements I and II are incorrect.
3. Statement II is correct, but I is incorrect.

4. Both the statements I and II are correct.

Question Type : MCQ
Question ID : 91394313668
Option 11D : 91394353715
Option 2 ID : 91394353714
Option 31D : 91394353716
Option 4 ID : 91394353713

Status : Answered

Chosen Option : 2

4
Q Which one of the following statements is correct ?
Options 1.
SEBI is constituted from amongst the directors of various stock exchanges.
2.
One of the objectives of setting up SEBI is to protect the interests of investors.
3.
The purpose of issuing different types of rules and regulations by SEBI is to bring monetary
gains to investors.
4.
SEBI has been constituted under the Securities (Contract and Regulation) Act, 1956.
Question Type : MCQ
Question ID : 91394313712
Option 11D : 91394353890
Option 2 ID : 91394353892
Option 3 ID : 91394353891
Option 4 1D : 91394353889
Status : Answered
Chosen Option: 2
Q5 The companies having business in a large number of countries around the world at present
are called
Options

1. Transnational Corporations (TNCs)
2. (Global Corporations (GCs)

3. Multinational Enterprises (MNEs)




4. Multinational Corporations (MNCs)

Question Type : MCQ
Question ID : 91394313641
Option 1 ID : 91394353605
Option 2 ID : 91394353607
Option 31D : 91394353608
Option 4 ID : 91394353606
Status : Answered
Chosen Option : 2
Q.6 . . . i s s
Which of the following sources of finance has an implicit cost of capital ?
Options .
1. Preference share capital
2. Debentures
3. Retained earnings
4. Equity share capital
Question Type : MCQ
Question ID : 91394313685
Option 11D : 91394353782
Option 2 ID : 91394353783
Option 3 ID : 91394353784
Option 4 ID : 91394353781
Status : Answered
Chosen Option: 3
Q7 Choose the correct code for the following statements being correct or incorrect.
Statement I : A well-chosen marketing channel must be aligned to company’s marketing
strategy with respect to segmentation, targeting and positioning.
Statement II : Marketing channels are set of interdependent organizations participating in
the process of making the product available for the use of consumption.
Code :
Options
PHONS 1 Statement II is correct, but I is incorrect.
2. Both the statements I and II are incorrect.
3. Both the statements I and II are correct.
4. Statement I is correct, but II is incorrect.
Question Type : MCQ
Question ID : 91394313720
Option 11D : 91394353924
Option 2 ID : 91394353922
Option 31D : 91394353921
Option 4 ID : 91394353923
Status : Answered

Chosen Option : 3

Q.8




Choose the correct code for the following statements being correct or incorrect.

Statement I :  Punctuality and team spirit among employees of an organisation has great
contribution in enhancing profits of the business but they do not appear as
an asset in the balance sheet.

Statement I] : Financial statements do not reflect the correct financial position of a
business.

Code :
Opti
PHONS 1 Both the statements I and II are correct.
2. Both the statements I and II are incorrect.

3. Statement I is correct, but II is incorrect.

4. Statement I is incorrect, but II is correct.

Question Type : MCQ
Question ID : 91394313647
Option 11D : 91394353629
Option 2 ID : 91394353630
Option 3 1D : 91394353631
Option 4 ID : 91394353632

Status : Answered

Chosen Option: 1

Q9 Which one of the following modes is nof an example of Direct and Database marketing
communication ?
Options . . .
1. Social media marketing
2. Catalogues
3. Telemarketing
4. Mailings
Question Type : MCQ
Question ID : 91394313680
Option 11D : 91394353761
Option 2 ID : 91394353762
Option 3 ID : 91394353764
Option 4 ID : 91394353763
Status : Answered
Chosen Option : 2
Q.10 Match the items of List I with the items of List II and choose the correct answer from the
code given below.
List I List IT
(a) Rival Firms (i) External Environment
(b) Technology (ii) Social and Cultural Environment
(¢) Improving Quality (iii) Internal Environment
(d) Ethics in Business (iv) Global Environment
Code :
Options

1. (a)-(iv), (b)), (e)—(ii), (d)—(iii)




2. (a)—{iii), (h)—(i), (e)=(iv), (d)—(ii)
3. (a)i), (b)—(ii), (e)(iii), (d)—(iv)
4. (a)-(ii), (b)iii), (e)Liv), (d)—(D)
Question Type : MCQ
Question ID : 91394313640
Option 11D : 91394353604
Option 2 ID : 91394353603
Option 3 1D : 91394353601
Option 4 ID : 91394353602
Status : Answered
Chosen Option: 2
Qmn Match the items of List I with the items of List IT and choose the correct answer from the
code given below.
List I List IT
(a) Claims (i) Company car, club membership, paid holidays, furnished house
(b) Fringe benefits (ii) Telephone/mobile allowance, internet allowance, medical allowance
(e) Perquisites (iii) Canteen, uniform, aceident relief
Code :
Options as s
PRONS 1 (a)(id), (b)), (e)iii)
2. (a)—i), (b)—(iii), (c)—(i)
3. (a)i), (b)—(ii), (e)—(iii)
4. (a)ii), (b)), (1)
Question Type : MCQ
Question ID : 91394313693
Option 11D : 91394353816
Option 2 ID : 91394353814
Option 3 ID : 91394353813
Option 4 ID : 91394353815
Status : Answered
Chosen Option : 4
Q12 Which one of the following is not the fund based business of commercial banks ?
Options
PHONS 1 Overdraft facility
2. Acceptance of deposits
3. Issuance of Letters of Credit
4. RTGS/NEFT transactions
Question Type : MCQ
Question ID : 91394313696
Option 11D : 91394353825
Option 2 ID : 91394353827
Option 3 ID : 91394353826




Option 4 ID : 91394353828
Status : Answered
Chosen Option : 3
Q13 Choose the correct code for the following statements being correct or incorrect.
Statement I :  When the two securities returns are perfectly positively correlated, the risk
of their portfolio is just a weighted average of the individual risks of the
securities. In such case, diversification does not provide risk reduction but
only risk averaging.
Statement II : Total risk of a portfolio of two risk securities can be completely eliminated
when their returns are perfeetly negatively correlated and their
proportionate holdings in the portfolio are inversely related to the
relative individual risks of the securities.
Code:
Options
PHONS1. Statement I is correct, but II is incorrect.
2. Both the statements I and II are correct.
3. Statement II is correct, but I is incorrect.
4. Both the statements I and II are incorrect.
Question Type : MCQ
Question ID : 91394313715
Option 11D : 91394353903
Option 2 ID : 91394353901
Option 3 1D : 91394353904
Option 4 1D : 91394353902
Status : Answered
Chosen Option: 1
Q.14 Match the items of List I with the items of List II and choose the correct answer from the
code given below.
List I List IT
(a) NPA (i) The percentage of deposits to be kept with RBI
in the form of cash.
(b) SLR (ii) The rate at which RBI lends money to
commercial banks.
(c) Repo Rate (iii) Loans and advances not paid for more than
90 days.
(d) CRR (iv) The percentage of net demand and time
liahilities to be kept in the form of liquid assets.
Code :
Options . . .
1. (a)-{iii), (b)—(iv), (e)—(i), (d)—(ii)
2. (a)ii), (b)-Liii), (e)iv), (d)—(i)
3. (a)-{iii), (b)—(iv), (e)—(ii}, (d)—(i)
4. (a)iii), (b)(ii), (e)Liv), (d)—(D)
Question Type : MCQ
Question ID : 91394313697
Option 11D : 91394353829
Option 2 ID : 91394353831
Option 3 1D : 91394353830




Option 4 ID : 91394353832
Status : Answered
Chosen Option : 4

Q.15 Which one of the following is not the advantage of database management system ?
Options
PHORS 1. Centralized control
2. Improved data integrity
3. Bhared data
4. High acquisition costs
Question Type : MCQ
Question ID : 91394313667
Option 11D : 91394353709
Option 2 ID : 91394353711
Option 31D : 91394353712
Option 4 ID : 91394353710
Status : Answered
Chosen Option : 4
Q16 Given is the information related to a house :
Municipal Value (M.V.) ¥ 1,560,000
Fair Rent = 1,80,000
Standard Rent ¥ 1,60,000
Actual Rent ¥ 20,000 pm
Municipal tax paid by owner is 20% of M.V. Unrealised rent ¥ 40,000
(conditions of rule 4 satisfied). What is the annual value of the house ?
Opti
PHONS 2 1,60,000
2. ¥ 1,70,000
3. ¥ 1,50,000
4. ¥ 2,10,000
Question Type : MCQ
Question ID : 91394313739
Option 11D : 91394353998
Option 2 ID : 91394353999
Option 3 ID : 91394353997
Option 4 ID : 91394354000
Status : Answered
Chosen Option : 1

Q.17




Mateh the items of List I with the items of List IT and choose the correct answer from the
code given below.

List I List IT
(a) Direct investment overseas aimed (i) Inward FDI

at manufacturing products not

manufactured by the firm in the

home country.

(b) Direct investment in a foreign (ii) Backward Vertical FDI
country aimed to sell the output of
the firm's domestic produetion.

(e) Direct investment overseas aimed (iii) Conglomerate FDI
at providing inputs for the firms
production proecess in the home
country.

(d) Foreign firms investing overseas  (iv) Forward Vertical FDI
and taking control over foreign
assets.

Code :

OPtioNS | ()i, (b)—(i), (i), (d)—(iv)
2. (a)=(i), (b)—(iv), (e)—(i), (d)—(iii)
3. (a)ii), (b)—(iv), ()—(iD), (d)—(0)

4. (a)—iv), (b)—(iii), (e)~(id), (d)—(i)

Question Type : MCQ
Question ID : 91394313728
Option 11D : 91394353956
Option 2 ID : 91394353954
Option 3 ID : 91394353955
Option 4 ID : 91394353953

Status : Answered

Chosen Option : 1

Q.18 Which one of the following is the main government agency responsible for development and

monitoring international trade in India ?
Options 1. Federation of Indian Export Organisations
2. Indian Institute of Foreign Trade

3. Department of Commerce

4. Export Promotion Couneil

Question Type : MCQ
Question ID : 91394313709
Option 11D : 91394353878
Option 2 ID : 91394353877
Option 3 1D : 91394353879
Option 4 1D : 91394353880

Status : Answered

Chosen Option : 2

Q.19




Mateh the items of List I with the items of List IT and choose the correct answer from the

code given below.
List I

(Propounder of Theory)

(a) Dr. Willian Ouchi
(b) Douglas McGregor
(c) Frederick Herzberg

List IT

(Theory of Motivation)
(i) X Theory
(ii) Need Hierarchy Theory
(iii) Z Theory

(d) A.H. Maslow (iv) Hygiene Theory
Code :
Options . . ..
1. (a)=iii), (b)—(i), (e)—Liv), (d)—(ii)
2. (al—{iv), (b)—(i), (e)=(iii), (d)—(ii)
3. (a)—{ii), (b)—iii), (e)—iv), (d)—(i)
4. (a)-(ii), (b)—(i), (e)—(iil), (d)—(iv)
Question Type : MCQ
Question ID : 91394313669
Option 11D : 91394353719
Option 2 1D : 91394353718
Option 31D : 91394353717
Option 4 1D : 91394353720
Status : Answered
Chosen Option : 1
Q.20 The theory suggesting that the patterns of international trade are determined by factor
endowment rather than productivity was propounded by which one of the following ?
Options
PRONS 1 Michael Porter
2. David Ricardo
3. Heckscher and Bertil Ohlin
4. Adam Smith
Question Type : MCQ
Question ID : 91394313703
Option 11D : 91394353856
Option 2 ID : 91394353854
Option 3 ID : 91394353855
Option 4 ID : 91394353853
Status : Answered
Chosen Option : 3

Q.21




The Industrial Policy, 1956 has been prompted by which combination of the following
developments ?

(i) Adoption of the Constitution of India.
(ii) Implementation of Economic Planning.
(iii) Acceleration of Economic Growth and Industrialisation.

(iv) Availability of Sufficient Funds for Investment in Public Sector.
Choose the correct answer from the code given below :

Code:
OPtOns ;  Only (ii) and (iv)

2. Only (i), (ii) and (iv)
3. Only (ii), (iii) and (iv)

4. Only (i) and (ii)

Question Type : MCQ
Question ID : 91394313642
Option 11D : 91394353612
Option 2 ID : 91394353610
Option 31D : 91394353611
Option 4 ID : 91394353609
Status : Answered
Chosen Option : 3
Q.22 ‘Which of the following statements is/are true ?
(iy Tax-shield on depreciation and interest is an important variable both for the lessor and
the lessee.
(ii) Lease transactions in India are governed by the Lease Act.
(iii) A lessee should evaluate the lease options against the buying option.
(iv) As per AS — 19, financial lease is shown in the balance sheet of the lessee as an asset.
Choose the correct answer from the code given below :
Code :
Options . )
P 1. (i) and (iv)
2. (ii), (iii) and (iv)
3. Only (ii)
4. (i), (iil) and (iv)
Question Type : MCQ
Question ID : 91394313711
Option 1 1D : 91394353885
Option 2 ID : 91394353887
Option 31D : 91394353888
Option 4 1D : 91394353886
Status : Answered
Chosen Option : 4

Q.23




Mateh the items of List I with the items of List IT and choose the correct answer from the

code given below.
List I

List IT

(a) Income elasticity less than unity (i) Competitive goods

(b) Cross elasticity less than unity
(e) Cross elasticity less than zero
(d) Income elasticity less than zero

(ii) Inferior goods
(iii) Superior goods
(iv) Complementary goods

Options

Code :
1. (a)—i), (b)—(ii), (e)—(iii), (d)—(iv)
2. (a)-iii), (b)), (e)—(iv), (d)—(ii)
3. (a)-iv), (b)(iii), (e}, (d)—(ii)

4. (a)-iv), (b)—1), (e)-(ii), (d)—(iii)

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
91394313656
91394353665
91394353667
91394353666
91394353668
Answered

4

Q.24

Options

Which one of the following is net the function of the Reserve Bank of

India ?

1. Controller of credit

2. Accepting deposits and advancing loans to public

3. Custodian of Cash Reserves of Commercial Banks

4. Issue of Bank notes

Question Type :
191394313702
1 91394353852
191394353851
1 91394353850
1 91394353849
: Answered

Chosen Option :

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

McQ

2

Q.25

Options

Which among the following is not an internal factor of pricing decision ?

1. Price elasticity as per sales of product
2. Consumer behaviour for given product

3. Position of product in product eycle




4. Consumer’s expectation from company by past pricing

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
91394313718
91394353913
91394353916
91394353915
91394353914
Answered

1

Q.26

A and B are partners in a firm sharing profits in the ratio of 3 : 2. They admit X asa
partner for 1/3 share in profits of the firm. The new profit sharing ratio of A, B and X is

Options
P 1. 3:2:
2. 3:2:
3. B:4:
4 3:2:
Question Type : MCQ
Question ID : 91394313649
Option 11D : 91394353637
Option 2 ID : 91394353639
Option 3 ID : 91394353640
Option 4 ID : 91394353638
Status : Answered
Chosen Option: 3
Q.27 . L . .
Which one of the following is not the basic funetion of WTO ?
Options o . . .
1. To facilitate the expansion and balanced growth of international trade
2. To settle differences and disputes among its member countries
3.
To carry out periodic reviews of the trade policies of its member countries
4.
To facilitate the implementation, administration and operation of trade agreements
Question Type : MCQ
Question ID : 91394313707
Option 11D : 91394353871
Option 2 ID : 91394353870
Option 31D : 91394353872
Option 4 ID : 91394353869
Status : Answered

Chosen Option : 1

Q.28

Options

1.

Which one of the following is not an advantage of external recruitment ?

Scope for resentment, jealousies and heartburn are avoided




2

3.

4

. Good performance is rewarded

Compliance with reservation policy becomes easy

Benefits of new skills, new talents and new experiences to organisations are available

Question Type : MCQ
Question ID : 91394313724
Option 1 1D : 91394353938
Option 2 ID : 91394353937
Option 3 ID : 91394353939
Option 4 ID : 91394353940
Status : Answered
Chosen Option : 3
Q.29 " . . .
For performance assessment of employees, “*helping to meet legal requirements” is the
application of which one of the following ?
Options
P 1. Developmental purpose
2. Organisational maintenance purpose
3. Administrative purpose
4. Documentation purpose
Question Type : MCQ
Question ID : 91394313726
Option 11D : 91394353945
Option 2 ID : 91394353947
Option 3 ID : 91394353946
Option 4 ID : 91394353948
Status : Answered
Chosen Option : 4
Q.30 Advertising method in which a commercial is broadeast simultaneously on several radio
stations and/or television channels is known as
Options
P 1. Road side
2. Intencified campaign
3. Road block
4. Exclusive drive
Question Type : MCQ
Question ID : 91394313719
Option 11D : 91394353919
Option 2 ID : 91394353918
Option 3 ID : 91394353920
Option 4 ID : 91394353917
Status : Answered

Chosen Option : 2




Q.31

Options

In which one of the following modes of entry into foreign market are risk and profit

potential the highest ?

1. Joint ventures

2. Indirect exporting

3. Direct exporting

4. Direct investment

Question Type : MCQ
Question ID : 91394313679
Option 11D : 91394353760
Option 2 ID : 91394353757
Option 3 ID : 91394353758
Option 4 ID : 91394353759
Status : Answered
Chosen Option : 4
Q.32 On fulfilling certain conditions, for an undertaking set up in special economic zones,
deduction under section 10 AA of the Income Tax Act is allowed for
Options
P 1. b years
2. Unlimited period
3. 15 years
4. 10 years
Question Type : MCQ
Question ID : 91394313738
Option 11D : 91394353993
Option 2 ID : 91394353996
Option 31D : 91394353995
Option 4 1D : 91394353994
Status : Answered
Chosen Option : 1
Q.33 The inverse relationship between the variation in the price and the variation in the
guantity demanded is not due to
Options
PHONS 1. Price effect
2. Entry and exit of buyers
3. Law of substitution
4. (Gossen’s laws of consumption
Question Type : MCQ
Question ID : 91394313654
Option 11D : 91394353657
Option 2 ID : 91394353658
Option 31D : 91394353660




Option 4 ID : 91394353659
Status : Answered
Chosen Option : 4
Q.34 Choose the correct code for the following statements being correct or incorrect.
Statement I : Intellectual Property (IP) is a category of property that includes intangible
creations of the human intellect.
Statement II : 1PR does not include trade secrets and moral rights.
Code :
Options
PHONS | Statement II is correet, but I is incorrect.
2. Both the statements I and II are correct.
3. Both the statements I and II are incorrect.
4. Statement I is correct, but I1 is incorrect.
Question Type : MCQ
Question ID : 91394313732
Option 11D : 91394353972
Option 2 ID : 91394353969
Option 31D : 91394353970
Option 4 ID : 91394353971
Status : Answered
Chosen Option : 2
Q.35 . . .
Which one of the following statements is not true ?
Options . . .
Convergion of debentures into preference shares will decrease
debt-equity ratio.
2. Higher operating ratio indicates higher profits.
3.
Cost of sales is a better numerator than sales while caleulating stock turnover.
4.
Long-term liabilities due for payment within a year should be treated as current liabilities.
Question Type : MCQ
Question ID : 91394313652
Option 1 ID : 91394353649
Option 2 ID : 91394353651
Option 31D : 91394353652
Option 4 ID : 91394353650
Status : Answered
Chosen Option : 4

Q.36 Choose the correct code for the following statements being correct or incorrect.

Statement I: The geometric mean of the two regression coefficients of X and Y variables
gives the value of the coefficient of correlation.
Statement II : If the population distribution is not normal and a sampling distribution of

mean is prepared by taking small sized samples, the sampling distribution
of mean is not normal.

Code :




Options 1. Statement IT is correct, but I is incorrect.

2. Both the statements I and II are incorrect.
3. Statement I is correct, but II is incorrect.

4. Both the statements I and II are correct.

Question Type : MCQ
Question ID : 91394313666
Option 11D : 91394353708
Option 2 ID : 91394353706
Option 3 ID : 91394353707
Option 4 1D : 91394353705

Status : Answered

Chosen Option : 1

Q.37 Choose the correct code for the following statements being correct or incorrect.
Statement I : Thousands of employees die everyday in factories due to acecidents.
Statement Il : To make an accident-free plant adds to cost and decreases productivity.
Code :

Options

1. Both the statements I and I are incorrect.
2. Statement I is correct, but II is incorrect.
3. Both the statements I and II are correct.

4. Statement II is correct, but I iz incorrect.

Question Type : MCQ
Question ID : 91394313695
Option 11D : 91394353822
Option 2 ID : 91394353823
Option 3 1D : 91394353821
Option 4 ID : 91394353824

Status : Answered

Chosen Option: 3

Q.38 Cost plus pricing is considered appropriate for which combination of the following ?

(i) Produet Tailoring

(ii) Public Utility Pricing

(iii) Refusal Pricing

(iv) Monopoly Pricing

Choose the eorrect answer from the code given below :

Code :

Opti
PHONS 1 Only () and (i)

2. Only (i), (ii) and (iii)

3. Only (iii) and (iv)




4. Only (ii), (iii) and (iv)

Qu

estion Type :
Question ID :
Option 11D :

Option 21D :
Option 31D :
Option 41D :

Status :

McQ
91394313660
91394353681
91394353682
91394353684
91394353683
Answered

Chosen Option : 3

Q.39

Options

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Databases assist in market segmentation, especially behavioural
segmentation such as developing loyalty segments.

Reason (R): Customer Relationship Management (CRM) databases have become an asset

for the analysis of customer behaviour.
Code :

1. (A) is correct but (R) is not correct.
2. Both (A) and (R) are correct and (R) is the right explanation of (A).
3. Both (A) and (R) are incorrect.

4. Both (A) and (R) are correct but (R) is not the right explanation of (A).

Question Type :
Question ID
Option 1 ID
Option 21D :
Option 3 ID
Option 4 ID

Status:

McQ

191394313721
1 91394353928

91394353925

1 91394353927
1 91394353926

Answered

Chosen Option : 2

Q40 Choose the correct code for the following statements being correct or
incorrect.
Statement I : If the value of f,, ie, p'—*i, of a distribution gives the
O4
value more than 3, its eurve is platykurtic.
Statement IT - In a moderately asymmetrieal distribution, the standard
deviation is 1-25 times of mean deviation.
Code:
Options
PHONS 1 Statement I is correct, but I is incorrect.

2. Both the statements I and I1 are correct.
3. Both the statements I and II are incorrect.

4. Statement II is correct, but I is incorrect.

Question Type : MCQ
Question ID : 91394313662
Option 11D : 91394353691




Options

Who among the following is not an ohserver country of the SAARC ?

Option 2 ID : 91394353689
Option 31D : 91394353690
Option 4 1D : 91394353692
Status : Answered
Chosen Option : 3
o4 Production funetion is based on which combination of the main characteristics of the inputs
from the following :
(i) Substitutability
(i) Complementarity
(iii) Flexibility
(iv) Specificity
Choose the correct answer from the code given below :
Code:
Options
PHONS 1 Only (i), (ii) and (iv)
2. Only (i) and (ii)
3. Only (ii), (iii) and (iv)
4. Only (iii) and (iv)
Question Type : MCQ
Question ID : 91394313657
Option 11D : 91394353671
Option 2 ID : 91394353669
Option 31D : 91394353670
Option 4 1D : 91394353672
Status : Answered
Chosen Option : 1
Q.42 Which of the following variables is not known in Internal Rate of Return method of capital
budgeting ?
Options
P 1. Amount of cash outflows
2. Discount rate
3. Amount of cash inflows
4. Life of the project
Question Type : MCQ
Question ID : 91394313686
Option 11D : 91394353787
Option 2 ID : 91394353788
Option 3 ID : 91394353785
Option 4 ID : 91394353786
Status : Answered
Chosen Option : 2
Q.43




1. Canada

2. Iran

3. USaA

4. China

Question Type : MCQ
Question ID : 91394313730
Option 11D : 91394353964
Option 2 ID : 91394353961
Option 3 1D : 91394353963
Option 4 ID : 91394353962

Status : Answered

Chosen Option: 1

Q.44 To examine whether the company is pursuing its best opportunities with respect to markets,
products, and channels is the purpose of which one of the following types of marketing
control 7
Options

1. Annual-plan eontrol
2. Efficiency control
3. Profitability control

4. Strategic control

Question Type : MCQ
Question ID : 91394313681
Option 11D : 91394353765
Option 2 ID : 91394353767
Option 3 1D : 91394353766
Option 4 ID : 91394353768

Status : Answered

Chosen Option : 4

Q45 Which of the following statements is/are false ?

(i) Capital profits can never be distributed as dividends to the shareholders.

(iiy Dividends are paid out of profits and, therefore, do not affect the liquidity position
of the firm.

(iii) Every company should follow the policy of low dividend payment.

(iv) Walter's model suggests that dividend payment does not affect the market price of the
share.

Choose the correct answer from the code given below :
Code:

Optlons1' (i), (ii) and (iii)
2. (i), (ii), (iii) and (iv)

3. (iii) and (iv)

4. (ii), (iii) and (iv)




Question Type : MCQ
Question ID : 91394313687
Option 11D : 91394353789
Option 2 ID : 91394353790
Option 3 ID : 91394353792
Option 4 ID : 91394353791
Status : Answered
Chosen Option : 2
Q.46 Match the items of List I with the items of List II and choose the correct answer from the
code given below.
List I List IT
(a) Balance of trade (i) Imports and exports of goods and services and unilateral
transfer of goods and services
(b) Current account (ii) Transactions leading to changes in the financial assets and
liabilities of a country
(¢) Balance of payments (iii) All economic transactions between a country’s residents and
residents of other countries
(d) Capital account (iv) Value of exports and imports of a country
Code :
Options . . .
1. (a)-i), (b)—(ii), (e)—(iii), (d)—{iv)
2. (a)—{iv), (h)—(iii), (e)—(ii), (d)—(i)
3. (a)-iii), (b)—(ii), (e)Liv), (d)—Q)
4. (a)=(iv), (b)—(i), (e)—(iii), (d)—(ii)
Question Type : MCQ
Question ID : 91394313704
Option 1 1D : 91394353859
Option 2 ID : 91394353860
Option 3 1D : 91394353858
Option 4 ID : 91394353857
Status : Answered
Chosen Option : 4
Q.47 . . s .
Banks are required to classify Non-Performing Assets into
Options
1. Doubtful assets, and bad debts
2. Doubtful assets, bad debts and loss assets
3. Bub-standard assets, doubtful assets, and loss assets
4. Standard assets, and sub-standard assets
Question Type : MCQ
Question ID : 91394313701
Option 11D : 91394353847
Option 2 ID : 91394353848
Option 3 ID : 91394353845
Option 4 ID : 91394353846
Status : Answered

Chosen Option : 3




Q.48 If a perpendicular on X-axis from the point of intersection of both ‘less than’ and ‘more than’

frequency curves is drawn, it gives the value of

Opti ]
ptions - Medi

2. Third quartile
3. Mode

4. Arithmetic mean

Question Type : MCQ
Question ID : 91394313661
Option 11D : 91394353688
Option 2 ID : 91394353686
Option 3 1D : 91394353687
Option 4 ID : 91394353685

Status : Answered

Chosen Option : 4

Q.49 A firm has inventory turnover of 3 and cost of goods sold is ¥ 2,70,000. With better
inventory management, the inventory turnover is increased to 5. This would result in
Options ..
1. Decrease in inventory by ¥ 90,000

2. Decrease in inventory by T 36,000
3. Increase in cost of goods sold by ¥ 20,000

4. Increase in inventory by T 54,000

Question Type : MCQ
Question ID : 91394313684
Option 11D : 91394353780
Option 2 ID : 91394353778
Option 3 1D : 91394353779
Option 4 ID : 91394353777

Status : Answered

Chosen Option : 2

Q.50 Match the items of List I with the items of List IT and choose the correct answer from the

code given below.
List I List IT

(a) Behaviour referent (i) Wide ranging cultural, structural and

personnel strategies

(b) Focus of attention for (ii) Manage climate and culture
interventions

{e) Conflict handling (iii) Few

(d) Job categories and grades (iv) Values/mission

Code :

Options

1. ta)-iv), (b)—~(1), (e)-(ii), (d)—(iii)

2. (a)-(iii), (b)—(i}, (e)-(ii), (d)—(iv)




3. (a)-D), (b)), (e)(iv), (d)—{iii)

4. (a)iv), (b)ii), (e)i), (d)—(iii)

Question Type : MCQ
Question ID : 91394313689
Option 11D : 91394353799
Option 2 ID : 91394353798
Option 3 1D : 91394353800
Option 4 ID : 91394353797
Status : Answered
Chosen Option : 4
Q.51 Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.
Assertion (A) ; Training aids in encouraging and achieving self-development and
self-confidence.
Reason (R): 1t helps a person handle stress, tension, frustration and conflict.
Code :
Options . . .
1. Both (A) and (R) are correct and (R) is the right explanation of (A).
2. Both (A) and (R) are correct but (R) is not the right explanation of (A).
3. (A) is correct but (R) is not correct.
4. Both (A) and (R) are incorrect.
Question Type : MCQ
Question ID : 91394313725
Option 11D : 91394353941
Option 2 ID : 91394353942
Option 3 1D : 91394353944
Option 4 ID : 91394353943
Status : Answered
Chosen Option : 2
Q.52 Under Sec. 194 IB of the Income Tax Act, 1961 an individual or HUF (who is not required
to get his accounts audited u/s 44 AB) who is responsible for paying to a resident any rent,
shall deduet income tax, for the use of any land and building or both, if the rent exceeds
Options
P 1. ¥ 50,000 per month
2. ¥ 40,000 per month
3. ¥ 15,000 per month
4. ¥ 25,000 per month
Question Type : MCQ
Question ID : 91394313736
Option 1 1D : 91394353985
Option 2 ID : 91394353986
Option 3 1D : 91394353988
Option 4 ID : 91394353987
Status : Answered




l Chosen Option : 3

.53
Q Which one of the following is agricultural income under Income Tax Act ?

Opti
P"°1. Dividend from a company engaged in agriculture.

2.
Income from the sale of replanted trees where denuded parts of the forest are replanted and
subsequent operations in forestry are carried out.

3. Income from the land used for storing agricultural produce.

4. Income from dairy farm, poultry farm, ete.

Question Type : MCQ
Question ID : 91394313737
Option 11D : 91394353990
Option 2 ID : 91394353992
Option 3 1D : 91394353989
Option 4 1D : 91394353991

Status : Answered

Chosen Option: 3

Q54 ¥ 14d. forfeited 40 shares of T 10 each and on which ¥ 4 per share were paid. If the

forfeited shares are reissued as ¥ 8 per share paid up, what is the minimum price the
company must charge ?

Optlons1. T 4 per share
2. ¥ 8 per share
3. ¥ 10 per share

4. T 2 per ghare

Question Type : MCQ
Question ID : 91394313648
Option 11D : 91394353634
Option 2 ID : 91394353635
Option 31D : 91394353636
Option 4 ID : 91394353633

Status : Answered

Chosen Option: 1

Q.55 In which one of the following forms of worker's participation in management is the role of
the workers council not just advisory but the management is under a moral obligation to
acknowledge, accept and implement the unanimous decision of the council ?

Options

1. Associative Participation
2. Administrative Participation
3. Decisive Participation

4. Consultative Participation




Question Type : MCQ
Question ID : 91394313727
Option 11D : 91394353950
Option 2 ID : 91394353951
Option 3 1D : 91394353952
Option 4 1D : 91394353949
Status : Answered
Chosen Option: 3
Q.56 Match the items of List I with the items of List IT and choose the correct answer from the
code given below.
List I List IT
(Type of Interview) (Usual Application)
(a) Structured (i) A realistic approach that yields comparable answers plus
indepth insights
(b) Unstructured (ii) Useful to understand applicant’s reasoning and analytical
abilities under modest stress
(e) Mixed (iii) Useful for valid results, especially when dealing with large
number of applicants
(d) Behavioural (iv) Useful when the interviewer tries to probe personal details of
the candidate to analyse why they are not fit for the job
Code :
Options . . .
1. (a)-(iii), (b)), (e)-(id), (d)—(iv)
2. (a)(iii), (b)—(iv), (e)—(i), (d)—ii)
3. (a1}, (hi—(iv), (e)—(ii), (d)—(iii)
4. (a)(iv), (b)—(ii), (e)~(i), (d)—(iii)
Question Type : MCQ
Question ID : 91394313691
Option 11D : 91394353805
Option 2 ID : 91394353808
Option 3 1D : 91394353807
Option 4 1D : 91394353806
Status : Answered
Chosen Option : 2
Q.57 Second generation reforms in our country do not comprise of which one of the following ?
Options
P 1. Clean environment
2. Growing Indian transnational corporations
3. Exploiting the knowledge based global economy
4. Population control measures
Question Type : MCQ
Question ID : 91394313645
Option 11D : 91394353624
Option 2 ID : 91394353622
Option 31D : 91394353621
Option 4 ID : 91394353623




Status : Answered
Chosen Option : 4

Q.58 Which one of the following is not the correct property of normal distribution ?

Options 1. Uni-modal distribution
2. Equality of central values (Mean, Mode and Median)
3. Continuous distribution

4. Standard deviation is the sole parameter of the distribution

Question Type : MCQ
Question ID : 91394313664
Option 1 1D : 91394353700
Option 2 ID : 91394353698
Option 3 1D : 91394353697
Option 4 1D : 91394353699

Status : Answered

Chosen Option : 4

Q.59 Cardinal utility analysis of consumer’s behaviour is based on which combination of the

following assumptions :

(i) Utility is measurable in terms of cardinal numbers.
(ii) Constaney of the marginal utility of money.

(iii) Utilities of different goods are interdependent.

(iv) Gossen’s first law of consumption.
Choose the correct answer from the code given below :

Code :
OPYOnS,  Only (iii) and (iv)

2. Only (i), (ii) and (iv)
3. Only (i) and (ii)

4. Only (ii), (iii) and (iv)

Question Type : MCQ
Question ID : 91394313655
Option 11D : 91394353664
Option 2 ID : 91394353662
Option 31D : 91394353661
Option 4 ID : 91394353663

Status : Answered

Chosen Option : 2

Q.60




Options

Match the items of List I with the items of List IT and choose the correct answer from the
code given below.

List I List IT
(a) Mobile defense (i) Oeccupying the most desirable position in consumers’ minds,
making the brand almoest impregnable.

(b) Contraction defense (ii) The leader stretches its domain over new territories through
market broadening and market diversification.

(¢) Position defense (ili) Large companies give up weaker markets and reassign
resources to stronger ones.

Code :
1. (a)-(il), (b)—(iii), (e)—(i)
2. (a)-i), (b)), (e)(iii)
3. (a)ii), (b)—(i), (e)—(iii)

4. (a)i), (b)—(iii), (e)-ii)

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
91394313677
91394353751
91394353750
91394353749
91394353752
Answered

3

Q.61

Options

Which one of the following items is nof a part of job specification ?
1. Emotional characteristics
2. Location
3. Initiative

4. Judgement

Question Type :
Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 41D :

Status :

Chosen Option :

McQ

191394313690
1 91394353804
191394353801
1 91394353802

91394353803
Answered
1

Q.62

Options

Which of the following is nof a method of preparation of cash budget ?
1. Proforma Balance Sheet method

2. Receipts and Payments method

3. Adjusted Net Income method




4. Cash Cycle method

Question Type : MCQ
Question ID : 91394313688
Option 11D : 91394353793
Option 2 ID : 91394353795
Option 3 ID : 91394353794
Option 4 ID : 91394353796
Status : Answered
Chosen Option : 3
Q.63 Arrange the following stages of staffing in correct sequence and indicate the code of correct
sequence.
(i) Performance appraisal
(ii) Recruitment
(iii) Transfers
{iv) Selection
(v) Induction and orientation
Choose the correct answer from the code given below :
Code:
Options aan s a gass
PHROS 1 (i), Giv), (), (3, (i)
2. (i), (i), (iw)d, (w), (1id)
3. (i), (1), (iw), (w), (iii)
4. (i), (i), (w), (iii), (1)
Question Type : MCQ
Question ID : 91394313670
Option 11D : 91394353722
Option 2 ID : 91394353724
Option 31D : 91394353721
Option 4 1D : 91394353723
Status : Answered
Chosen Option : 1
Q.64 Which among the following is net included in seven Ps of marketing mix given by Booms
and Bitner ?
Options 1. Process
2. Politics
3. Physical Evidence
4. People
Question Type : MCQ
Question ID : 91394313716
Option 1 ID : 91394353905
Option 2 ID : 91394353908
Option 3 ID : 91394353907




Option 4 ID : 91394353906
Status : Answered
Chosen Option: 2

Q65 Corporations are controlled and directed by which one of the following ?

Opti
ptions . Corporate codes
2. Corporate mechanism

3. Corporate ethics

4. (Corporate governance

Question Type : MCQ
Question ID : 91394313672
Option 11D : 91394353730
Option 2 1D : 91394353732
Option 31D : 91394353729
Option 4 ID : 91394353731

Status : Answered

Chosen Option : 1

Q.66 Indicate the most popular route of privatisation adopted by the Government of India in

recent decades.

Options 1. Management-Employee Buyout
2. Cross Holdings

3. Strategic sale

4. Spontaneous Privatisation

Question Type : MCQ
Question ID : 91394313643
Option 11D : 91394353613
Option 2 ID : 91394353615
Option 31D : 91394353616
Option 4 ID : 91394353614

Status : Answered

Chosen Option: 3

Q.67 Which one among the following is the oldest form of organization ?

Opti
PHONS 1 Committee Organization

2. Line Organization

3. Functional Organization

4. Project Organization

Question Type : MCQ




Question ID : 91394313674
Option 11D : 91394353737
Option 2 ID : 91394353740
Option 3 ID : 91394353739
Option 4 ID : 91394353738
Status : Answered
Chosen Option : 4

Q.68

Options

1.

“Everyone benefits when the focus is on common interest and promotion of harmony” is the
underlying assumption of which one of the following approaches to industrial relations ?

Human Relations approach

2. Marxist approach

3. Pluralistic approach

4. Unitary approach

Question Type : MCQ
Question ID : 91394313694
Option 11D : 91394353820
Option 2 ID : 91394353819
Option 3 1D : 91394353818
Option 4 ID : 91394353817

Status : Answered

Chosen Option : 2

Q.69

Options

1.

Mateh the items of List I with the items of List II and choose the correct answer from the

code given below.
List I
(a) The economy was characterised by

small regional suppliers who sold
goods on a local basis

(b) Standardised, branded goods were
sold at national level

(c) Era of market differentiation based
on demographie, socio-economic and
life style factors

(d) Technological advancements,
especially in the area of digital
communication, allow marketers to
communicate with individual
consumers or very small groups

Code :

(a)—(iv), (b)—(i), (e)(ii), (d)—(iii)
(a)—(i), (h)—(iv), (e)(ii), (d)—(iii)
(a)—(i), (b)—(ii), (e)(iii), (d)—(iv)

(a)—(iv), (b)—(i), (e)~(iii), (d)—(ii)

List IT
(i) Mass marketing

(ii) Hyper-segmentation

(iii) Segmentation

(iv) Fragmentation

Question Type : MCQ
Question ID : 91394313717
Option 11D : 91394353911




The probable error of the coefficient of correlation (r) is ealculated by which one of the
following formulae ?

Options 1- 1_2 )

vn

-

1. 0-6745

Option 2 ID : 91394353909
Option 31D : 91394353912
Option 4 ID : 91394353910
Status : Answered
Chosen Option : 3
Q.70 The monopoly involves a social cost mainly due to its emphasis on which one of the
following ?
Options . . . . .
1. Earning net profit in all posgible situations.
2. Attempting to stall entry of other firms in the market.
3. Lower output at a higher cost in a normal profit situation.
4.
Charging different prices from different categories of buyers of the same product.
Question Type : MCQ
Question ID : 91394313659
Option 11D : 91394353677
Option 2 ID : 91394353680
Option 31D : 91394353678
Option 4 ID : 91394353679
Status : Answered
Chosen Option : 4
Q71 Merger of two companies under the Board for Industrial and Financial Reconstruction
(BIFR) supervision is known as
Options
P 1. Offer for sale
2. Reverse merger
3. Negotiated merger
4. Arranged merger
Question Type : MCQ
Question ID : 91394313713
Option 11D : 91394353895
Option 2 ID : 91394353893
Option 3 ID : 91394353894
Option 4 ID : 91394353896
Status : Answered
Chosen Option : 3
Q.72




Question Type : MCQ
Question ID : 91394313665
Option 11D : 91394353702
Option 2 ID : 91394353701
Option 3 ID : 91394353704
Option 4 1D : 91394353703

Status : Answered

Chosen Option : 1

Q73 For the following two statements regarding infrastructural services in the country, choose

the correct code for the statements being correct or incorrect.

Statement I :  Most infrastructure services are provided by public monopolies which
generally suffer with severe problems like lack of accountability, low
productivity, poor financial performance and over-employment.

Statement II : There is a need now to induce more private sector investment and
participation in provision of social overheads as it may encourage
better risk sharing, accountability, monitoring and management of
infrastructure sector.

Code :
Options
1. Both I and II are correct.

2. 1is correct, but II is incorrect.
3. Both I and II are incorrect.

4. 1is incorrect, but II is correct.

Question Type : MCQ
Question ID : 91394313646
Option 11D : 91394353625
Option 2 ID : 91394353628
Option 3 1D : 91394353626
Option 4 ID : 91394353627

Status : Answered

Chosen Option : 1

Q.74 Combined leverage can be used to measure the relationship between

OPtions | pAT and EPS
2. Balesz and EBIT
3. EBIT and EPS

4. Sales and EPS




Question Type : MCQ
Question ID : 91394313682
Option 11D : 91394353772
Option 2 ID : 91394353771
Option 3 1D : 91394353769
Option 4 1D : 91394353770
Status : Answered
Chosen Option: 3
Q.75 Match the items of List I with the items of List I and choose the correct answer from the
code given below.
List I List IT
(a) Compensation received by an employee from his (i) Exemption upto specified limit
employer on termination of job
(b) Pension received by the widow of an employee  (ii) Profits in lieu of salary
(¢) Foreign allowance for rendering services abroad (iii) Income from other sources
(d) Children hostel allowance (iv) Fully exempt from tax
Code:
Options . . .
1. (a)-ii), (b)—{iv), (e)—(iii), (d)—(i)
2. (a)-iv), (b)—(iii), (e)—(i), (d)—ii)
3. (a)iil), (b)~(iv), (e)~(i), (d)—(i)
4. (a)-ii), (b)-(iii), (e)—Liv), (d)—(i)
Question Type : MCQ
Question ID : 91394313735
Option 11D : 91394353983
Option 2 ID : 91394353984
Option 31D : 91394353981
Option 4 1D : 91394353982
Status : Answered
Chosen Option : 3

Q.76 Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) - Among all methods of charging depreciation on fixed assets, diminishing
balance method is the best method.

Reason (R): Diminishing balance method of charging depreciation has been permitted
under the Income Tax Act, 1961 for claiming deduction for depreciation.

Code :

Opti
PHONS 1 (A) is correct but (R) is not correct.

2.
Both (A) and (R) are correct but (R) is not the correct explanation of (A).

3. (A) is incorrect but (R) is correct.

4. Both (A) and (R) are correct and (R) is the correct explanation of (A).

Question Type : MCQ
Question ID : 91394313734
Option 11D : 91394353979




Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option

1 91394353978
191394353980
1 91394353977
: Answered

12

Q.77 Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Consumers need to be given legal protection against eertain trade practices
and business methods.

Reason (R): Protection as per market forces and ‘Caveat Emptor’ is not enough
as perfectly competitive market is an economist’s dream and consumer
sovereignty is a myth.

Code:

Options ;1 Both (A) and (R) are correct but (R) is not the right explanation

of (A).
2. Both (A) and (R) are correct and (R) is the right explanation of (A).
3. (A) is incorrect but (R) is correct.

4. (A) is correct but (R) is incorrect.

Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

Question Type:
Question ID :
Option 11D :

MCQ
91394313644
91394353620
91394353619
91394353618
91394353617
Answered

1

Q.78 Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : There exists excess capacity of the production for the firms if these incur
losses.

Reason (R} : Their production level has to remain below their economie capacity level.
Code:

OPons | Both (A) and (R) are correct but (R) is not the right explanation of (A).
2. (A) is incorrect but (R) is correct.
3. Both (A) and (R) are correct and (R) is the right explanation of (A).

4. (A) is correct but (R) is incorrect.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
91394313658
91394353676
91394353674
91394353675
91394353673
Answered

3




Q.79 Choose the correct code for the following statements being correct or incorrect.

Statement I : FX Spot is an agreement between two parties to buy one currency against

selling another currency at an agreed price for settlement on the spot
date.

Statement II : The date of maturity of a forward contract is more than two business days in
future.

Code :
OPHORS ,  Statement IT is corveet, but I is incorrect,
2. Both the statements I and II are correct.
3. Statement I is correct, but I1 is incorrect.

4. Both the statements I and II are incorrect.

Question Type : MCQ
Question ID : 91394313733
Option 11D : 91394353976
Option 2 ID : 91394353973
Option 3 ID : 91394353975
Option 4 ID : 91394353974

Status : Answered

Chosen Option : 2

Q.80 Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : A low debt-equity ratio is generally recommended for a newly started
business.

Reason (R) : During the initial years of the business, debt servicing will prove to be less
burdensome.

Code:
Options 1.
Both (A) and (R) are correct but (R) is not the correct explanation of (A).

2. (A) is not correct but (R) is correct.
3. Both (A) and (R) are correct and (R) is the correct explanation of (A).

4. (A) is correct but (R) is not correct.

Question Type : MCQ
Question ID : 91394313651
Option 11D : 91394353646
Option 2 ID : 91394353648
Option 3 ID : 91394353645
Option 4 ID : 91394353647

Status : Answered

Chosen Option : 3

Q.81 Which one of the following initiatives is not the strategy for managing shortage of

employees in an organisation ?
Options
P 1. Hire temporary employees

2. (Offer incentives to postpone retirement




3. Attempt to reduce turnover

4. Employee training

Question Type : MCQ
Question ID : 91394313722
Option 11D : 91394353931
Option 2 ID : 91394353930
Option 3 ID : 91394353929
Option 4 ID : 91394353932
Status : Answered
Chosen Option : 4
Q.82 According to Donald Kirkpatrick, training programmes can be evaluated at four levels.
Indicate the code of correct sequence from the following :
(i) Result
(iiy Reaction
(iii) Learning
(iv) Behaviour
Choose the correct answer from the code given below :
Code :
Options e a e o
PROMS G, (i), ), ()
2. (i), (i), (iid), (iv)
3. (1w}, (1), (1), (1)
4. (i), (iv), (), (i)
Question Type : MCQ
Question ID : 91394313692
Option 11D : 91394353811
Option 2 ID : 91394353809
Option 3 ID : 91394353812
Option 4 ID : 91394353810
Status : Answered
Chosen Option : 3

Q.83

Options

1.

3.

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) - The multilateral trading system is an attempt by governments to make the
business environment stable and predictable.

Reason (R): Promising not to raise trade barriers can be as important as lowering one,
because the promise gives businesses a clearer view of their future
market opportunities.

Code :

Both (A) and (R) are correct and (R) is the right explanation of (A).

2. Both (A) and (R) are incorrect.

(A) is correct but (R) is incorrect.




4. Both (A) and (R) are correct but (R} is not the right explanation of (A).

Question Type : MCQ
Question ID : 91394313729
Option 1 ID : 91394353957
Option 2 ID : 91394353959
Option 3 ID : 91394353960
Option 4 ID : 91394353958
Status : Answered
Chosen Option : 4
Q.84 .- Ny . ;
Critical path indicates which one of the following ?
Options .
1. Longest route of completing a task
2. Shortest route of completing a task
3. Average time of completing a task
4. Recorded time of completing a task
Question Type : MCQ
Question ID : 91394313673
Option 11D : 91394353733
Option 2 ID : 91394353734
Option 3 ID : 91394353735
Option 4 ID : 91394353736
Status : Answered
Chosen Option : 3
Q.85 . . .
Which one of the following statements is nof true ?
Options
P 1. Depreciation is a source of funds.
2.
Major source of working capital in the long run, is profits from operations.
3. Any transaction that increases working capital is a source of funds.
4
Profits earned from non-operating activities is added to net profit while caleulating profits
from operations.
Question Type : MCQ
Question ID : 91394313650
Option 11D : 91394353641
Option 2 1D : 91394353642
Option 31D : 91394353643
Option 4 ID : 91394353644
Status : Answered

Chosen Option : 1

Q.86

Options

“Skimming” in e-banking is a method of




1. transferring cash from one account to another aceount.
2. converting Debit Card into Credit Card.
3. stealing credit card information.

4. intimating the customer about his heavy withdrawals.

Chosen Option :

Question Type : MCQ
Question ID : 91394313698
Option 11D : 91394353834
Option 2 ID : 91394353833
Option 3 1D : 91394353835
Option 4 1D : 91394353836
Status : Answered
Chosen Option: 1
Q.87 Mateh the items of List I with the items of List IT and choose the correct answer from the
code given below.
ListI List IT
(a) AS-1 (i) Accounting for fixed assets
(b) AS-3 (ii) Disclosure of accounting policies
{e) AS—-10 (iii) Leases and its accounting
(d) AS-19 (iv) Cash flow statements
Code :
Options . . .
1. (a)-(iii), (b)—(ii), (e)—(i), (d)—(iv)
2. (a)-iii), (b)—(i), (e)—(iv), (d)—(ii)
3. (a1}, (bi—(ii), (e)—(iii), (d)—(iv)
4. (a)iii), (b)—(iv), (e)—(ii), (d)—(i)
Question Type : MCQ
Question ID : 91394313710
Option 11D : 91394353883
Option 2 ID : 91394353884
Option 31D : 91394353882
Option 4 ID : 91394353881
Status : Answered

1

Q.88

Options 1. Fulld d

2. Latent demand
3. Irregular demand

4. Overfull demand

Which one of the following demands states consumers are adequately buying all the
products put into the marketplace ?

Question Type : MCQ




Question ID : 91394313675
Option 11D : 91394353742
Option 2 ID : 91394353744
Option 3 ID : 91394353743
Option 4 ID : 91394353741
Status : Answered
Chosen Option : 1
Q.89 . . . s
Foreign investment can be made through which of the following routes ?
(iy Foreign Direct Investment (FDI)
(iiy Foreign Portfolio Investment (FPI)
(iij) Private Equity Investment (PEI)
(iv) Foreign Venture Capital Investors (FVCI)
Choose the correct answer from the code given below :
Code :
Options
RO (i), (iii) and (iv)
2. (1), (i1}, (iii) and (iv)
3. (i) and (iv)
4. (i), (ii) and (iv)
Question Type : MCQ
Question ID : 91394313731
Option 11D : 91394353968
Option 2 ID : 91394353965
Option 31D : 91394353966
Option 4 1D : 91394353967
Status : Answered
Chosen Option : 4
Q.90 . .
When RBI reduces CRR, it results into
Options .
1. Decrease in lendable resources
2. Decrease in deposits
3. Increase in deposits
4. Inecrease in lendable resources
Question Type : MCQ
Question ID : 91394313699
Option 11D : 91394353838
Option 2 ID : 91394353839
Option 3 ID : 91394353840
Option 4 ID : 91394353837
Status : Answered
Chosen Option : 4




Q.91 Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Technological change and skill requirements have been made a subject of
investigation in an organization.

Reason (R):  The neo-classical economic theory stated that technological changes require a

broader variety of skills and higher average skills from the workers.

Code:
OPYONS1 " (A) is correct but (R) is incorrect.
2. Both (A) and (R) are correct and (R) is the right explanation of (A).
3. Both (A) and (R) are incorrect.

4. Both (A) and (R) are correct but (R) is not the right explanation of (A).

Question Type : MCQ
Question ID : 91394313671
Option 11D : 91394353728
Option 2 ID : 91394353725
Option 3 ID : 91394353727
Option 4 1D : 91394353726

Status : Answered

Chosen Option : 2

Q.92 Bretton Woods Conference resulted into the establishment of which of the following ?

Opti
PUONS 1 IMF and IBRD

2. IDA and ADB

3. IBRD and IFC

4. IMF and IDA

Question Type : MCQ
Question ID : 91394313706
Option 11D : 91394353868
Option 2 ID : 91394353867
Option 31D : 91394353866
Option 4 1D : 91394353865

Status : Answered

Chosen Option : 1

Q.93 Which one of the following is net true for introducing multiple brands in a category ?

Opti
ptions - Decreasing internal competition within the firm

2.
Attracting consumers seeking variety who may otherwise have switched to another brand

3.
Yielding economies of scale in advertising, sales, merchandising and physical distribution

4. Increasing shelf presence and retailer dependence in the store

[ Question Type : MCQ




Question ID : 91394313676
Option 1 ID : 91394353747
Option 2 ID : 91394353746
Option 3 1D : 91394353748
Option 4 ID : 91394353745
Status : Answered
Chosen Option : 1
Q.94 .
Sales of a firm are ¥ 40 lacs; variable costs T 10 lacs; fixed costs
Z 15 lacs; interest T 5 lacs. Combined leverage of the firm will be
Options 1
2.2
3. 25
4. 8
Question Type : MCQ
Question ID : 91394313683
Option 11D : 91394353774
Option 2 ID : 91394353775
Option 3 1D : 91394353773
Option 4 ID : 91394353776
Status : Answered
Chosen Option: 3
Q.95 Match the items of List I with the items of List IT and choose the correct answer from the
code given below.
ListI List IT
{a) Job context (i) Procedures used
(b) Job-related tangibles and (ii) Work schedule
intangibles
(e) Work activities (iii) Work standards
(d) Work performance (iv) Services rendered
Code:
Options . . .
1. (a)-i), (hi—liv), (e)—(ii), (d)—(iii)
2. (a)-ii), (b)—iv), (e)—(1), (d)—(iii)
3. (a)-iv), (b)—(iii), (e)—(i), (d)—ii)
4. (a)-(iii), (b)—(iv), (e)—(ii), (d)—(i)
Question Type : MCQ
Question ID : 91394313723
Option 1 ID : 91394353936
Option 2 ID : 91394353934
Option 3 ID : 91394353935
Option 4 ID : 91394353933
Status : Answered
Chosen Option : 4

Q.96




Choose the correct code for the following statements being correct or incorrect.

Statement I : An option which gives its holder the privilege of selling to other party a fixed
amount of some stock at a stated price on or before a predetermined date is
known as call option.

Statement II : In an option, the holder has the privilege of purchasing from other party a
fixed amount of some stock at a stated price on or before a predetermined
date is known as put option.

Code :
OPtions | Statement I is correct, but II is incorrect.
2. Both the statements I and II are correct.
3. Statement II is correct, but I is incorrect,

4. Both the statements I and II are incorrect.

Question Type : MCQ
Question ID : 91394313714
Option 11D : 91394353899
Option 2 ID : 91394353897
Option 3 1D : 91394353900
Option 4 ID : 91394353898

Status : Answered

Chosen Option : 2

Q.97 Which of the following statements relating to the sampling theory are correct ?

(i) The values of the statistical measures based on the sampled units are called values of
statistic.

(i) In the simple random sampling technique, the element of the population and the unit of
the sample are different.

(iii) Snow-ball sampling technique is a probability based sampling technique.

(iv) The ‘law of statistical regularity’ and the ‘law of inertia of large numbers’ are the main
bases of the sample to become representative of the population.

Choose the correct answer from the code given below :

Code:

Options
PR (i) and (iii)

2. (i), (i) and (iii)

3. (ii), (iii) and (iv)

4. (i) and (iv)

Question Type : MCQ
Question ID : 91394313663
Option 11D : 91394353693
Option 2 ID : 91394353695
Option 31D : 91394353696
Option 4 ID : 91394353694

Status : Answered

Chosen Option : 1

Q.98




Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Purchase decisions are not based on how customers perceive prices but on

the marketer’s stated price.

Reason (R):  Customers may have a lower price threshold, below which prices signal
inferior or unacceptable quality, and an upper price threshold where the
product appears not worth the money.

Code:

Opti
ptions ;. (A) is incorrect but (R) is correct.

2. Both (A) and (R) are correct but (R) is not the right explanation of (A).
3. Both (A) and (R) are correct and (R) is the right explanation of (A).

4. Both (A) and (R) are incorrect.

Question Type : MCQ
Question ID : 91394313678
Option 11D : 91394353756
Option 2 ID : 91394353754
Option 3 1D : 91394353753
Option 4 ID : 91394353755

Status : Answered

Chosen Option : 3

Q.99 ‘Finance for exporting companies” as part of major programmes of the Exim Bank of India

does not include
Opti
prions ;. Overseas investment finance
2. Post-shipment credit

3. Term loans

4. Working capital

Question Type : MCQ
Question ID : 91394313708
Option 11D : 91394353875
Option 2 ID : 91394353874
Option 3 1D : 91394353876
Option 4 ID : 91394353873

Status : Answered

Chosen Option: 3

Q.100 A company proposes to introduce a new product in the market. The company wants to

maintain P/V Ratio at 25%. If variable cost of the product is T 300, what will be the selling
price ?

Options1. F 400
2. F100
3. F 300

4. 200




Question Type : MCQ
Question ID : 91394313653
Option 11D : 91394353656
Option 2 ID : 91394353653
Option 3 ID : 91394353655
Option 4 ID : 91394353654

Status : Answered

Chosen Option: 1




